@ [ESTRA\ 7 = Fn i 5 % 2 B 1% 22 8340-G2...

ik

B B R, AR R, 8w,
Mo WAnHEW LA THRFMEEE), @A LEN, R EHLEH
(S type MO = HM CBE % ¥ EN 60934) ,

EELE £ ET 3 SIEE P S

B Ak &

BB AT (1% F,

1 H)

F. % BCBE/£EN 60934 (IEC 60934)

BHE A,

WAL R I S R Ay P B A

HBMAL, wAFRHEE

1%/3 (on/off) X, F 54 #%

R T ER AN
e A B3 T 8o I A
, RTHh&H

0.02...3
A40+OI

EO-A

8340-G2...

2-%

QU A

e (A) W (Q) & — Fim o, H5 L www.e-t-a.de/ti_e
5,40 o & T 4n 4 Ji4n i 4 BEER 3 AC 415 V; AC 240 V, 50/60 Hz;
-F4/-F5 -E1/H1/R1 | -E2/H2/R2 DC80V (¥ w DCH E£H T E4l)
0.02 583 2896 2660 E 0.02...50 A DC
0.05 94 531 542 0.02...30 AAC
0.08 35.8 202 199 B 1 B 1 A, AC 240 V/DC 65 V
0.1 22.9 129 127 0.5A,DC 80V
0.15 9.89 57.3 55.7 ﬁﬁéﬂfoﬁz 15V, AG 240 V-
02 5.02 80.5 80.5 0.02..30 A 6,000 5% W , 1% Iy, HEbE 1 2
0.3 2.44 13.9 13.7 10,000 v 3 HF , 1 x g, B f1 3%
0.5 0.789 4.50 4.42 DC 80 V: 6,000 il BF , 1 X Iy, B 71 %
0.75 0.392 2.19 1.82 10,000 & i B , 1 x ly, ML 6 3%
1 0.246 1.10 1.08 — 5,000 KA, 1xhy, L 6
1.25 0.145 0.695 0.686 2 g%‘f ',:0,"';85: C (40..+185 ;
1.5 0.10 0.487 0.472 - o A 772
1.75 0.083 0.355 0.337 (IEC 60664 v RELEE R
. : : : 60664A) 2.5 kV 2
2 0.059 0.295 0.291 7o B X 48 hn 78 48 4%
2.5 0.048 0.174 0.168 St
3 0.028 0.121 0.118 (IEC 60664 %1 60664A)
4 <0.02 0.0729 0.0687 FIE X, mﬁ%% 28 11”.088 x
H&E AHmZE IR 5
5 <0.02 0.0437 0.0449 Wi (2 ;FES ) St AG 1500V
6 < 0.02 0.0329 0.0323 TEB S E KR E R E AC 1,500 V
8 <0.02 <0.02 <0.02 x5 £k E B2 1 i3 B, = AC 1,500 V
10 <0.02 <0.02 <0.02 (B 5 -X)
12 <0.02 <0.02 <0.02 L > 100 MQ (DC 500 V)
15 <0.02 <0.02 <0.02 A7 B 6 x IN, AC;
16 <0.02 <0.02 <0.02 IEC 60934 - Kis 2 /¥ 4xIN, DC
20 <0.02 <0.02 <0.02 Bt 4 4 0.02...20 A 25..30 A
25 < 0.02* <0.02 <0.02 (UL 1077) 1-# AC 250 V/3,500A AC 250 V/3,500A
— : : 2-%  AC 250 V/3,500A AC 250 V/5,000A
30 <0.02 <0.02 <0.02 1 0.02..50 A DC 80 V/3,500 A
40 <0.02 2.4 0.02..30 A DC 80 /3500 A
50 <0.02 T 1 X 3 1P40
(IEC 60529/DIN 40050) 3% F X & IPOO
“50 % TAE#| / NEt i
HaH T 10 g (57-2000 Hz), + 0.76 mm (10-57 Hz)
, 0.9x 1y
Herm: 10 g (57-2000 Hz) , Iy
% BB IEC 60068-2-6, test Fc
10 frequency cycles/axis
i 100g (11 ms), 1 x 1y, # 1 1,2,3,4,5
100 g (11 ms), 0.8 x Iy, 7111 6% [
IEC 60068-2-27, test Ea
J& 4 96 /Bt 5 % 5%,
% B8 |EC 60068-2-11, test Ka
bidEd 240 /it 95 % A8 xR
% B4 |EC 60068-2-78, test Cab
i & 470 7% HF—H

2015/16

www.e-t-a.de




@ EU=/A\ 7z X Fn i w5 BT 2 28 8340-G2.

THEEE Rt (40

A5
8340 @k X /i k2 #7545 max, 4 Nm 106
FEFR W2d_ ok s
G HHuH 0o ‘ ©| © a7 08.4
ot S|& immi 331
153 wlag T 24
2 M12x1 —— NI e
3 > ] i L L J T [ee] I —
j&ﬁ;;g) 5 ‘ 5 0 o2
| [to}
2 > — e f—
e
AR M ¢ 3 B E § }
0 H AR i
1 o E M12x1 Fdk B 12/15 0|3 |
BT Rt -2l o | o
P1 4%} 4 4% ¥ A6.3-0.8 mm (QC.250) (< 35 A) 1T 12 9‘« 2 () 247130209 —
Ka #24TH %5+ M5, #UAT Iy>20A
R1_H 7 &8 o6
BAE th 2 %) R X414 amm (118in)
y . A B A E{:S
Eﬂ*ﬂgﬁc&’ FAEu: SW14 LR
551
F5 AC  50/60 Hz 0302 ol &
Aot &, A3 o[8 g 4l g
E1 DC : ,’—" e
E2 AC 50/60 Hz 08| 82 !
: : o
F)ﬁa‘%ri?i, I B §7i ‘.031 N, . ) R
H2 AC 50/60 Hz &3
Mo &, KIEH 1.97 =S ]
R1 DC 19.4*
R2 AC 50/60 Hz 764
o kid *min. 25 4 {157 A TR
A 26, BItRAHFEETET max. 3 mm (118 in.)
A ET
4 HE R 2-#% 3-#H
LR R EE o (A 38 57
7 HE R 1.50 2.24
JE L84 7 B S R BB T 7
oA E
HO 7 % By i &
H1 A f
H2 3 4 Bl i
WEMT (2 HiEk%&)
WA AT
1 g% w1 lm%
3 1% (11/12)
S AT
1 #HhHXEL0ET A6.3-0.8 mm
i @7( (”I #)
0.02..50 A
w1
8340-G 2 1 1-P1 F4-A4 H1 11 - 8A iTHEXMH ‘_
VECU B AT, (i, RO, Bk R B R M AR 1 w2 2 s
H/NRITE N ERK.
FILR A+
min. 40 min. 60

min. 2.36

2-pole 3-pole

T
max. 3 mm (.118in.)

Q%‘J%ﬂﬁﬁlé’ﬂﬁ%ﬁ%(%)

2015/16

4-8 www.e-t-a.de



@ BT=/A\ 75 = Fn i [ 5 A W7 Bk 2 8340-G2...

B B ik o TR

1O11 232‘i24 12 2(k)
| il
34
134 g
236
BRBT -P BART K

a A A \

, \&\\\g NN
H‘EE_“ VAN e\
/ N NAN\N

RS s ;jZZQQCZZQG/

NN

/,

o
i

5
2
97

X
NI

©
q

-
‘ [®
Eﬁﬂ
|
12 !32(08121
T
35_|
138 ‘
I SNNNSNNNN

A

&

ANNNNNNNNNNN

N

Vo7

¢ e
.315

#4on T -R =

o

N
N

1

IR

1N/C

B 405 F -P1 1N/O, 1 N/C
; O
01 NCECReNISERI? 2() 1o1 1232 () 2(4)12 2(k)
ik | R
28 ‘ |
o 268
181 6x6.8 A REAET 182 ] -
6X.268 AB.3-0.8 (QC .250) to 45 716
.45
45 DIN 4624 177
1.77

M4 ;M5
rRAE

DIN 46244

A RELET
£6.3-0.8 (QC .250) to

1-%,

1'ﬁ>

B AR

line 1 1

o 2(k) load
R E B AR AP

132

line 1 1

B

iy g

line1 11 23

LA L3 e E AR
VDE IEC/EN AC 240/415V |0.02 A...30 A
60934 AC 240V 0.02A...30 A

DC 80V 0.02 A...50 A
UL UL 1077 AC 250 V 0.02A...30A

DC 80V 0.02A...30A

DC 80V 100A (2 #% 3 Bt)
UL UL 489A DC 80V 0.05A...30 A

(1+2 %)
CSA C22.2 No AC 250 V 0.02A...30 A
235 DC 80V 0.02A...40 A

cQC GB 17701 AC 240/415V | 0.02 A...30 A

AC 240V 0.02A...30 A

DC 80V 0.02 A...50 A

DC 110V 0.02 A...50 A (8340-G)
QPL MIL-C-55629 |AC 240 V 1A...30 A (8340-F410)
Sweden DC 50V 1A...30 A (8340-410)
Defence AC 240V 1 A...30 A (8340-F420)
Material AC 240/ 415V | 1 A...30 A (8340-F430)
Admin.

N o o oy R R O % (%)

2015/16

www.e-t-a.de




N
T
(@)
<
™
00
He
iy
5
3t
&
=}

"

7

@ ERA 7 X A

T FE B

, AC 50/60 Hz
% TAEF/ AN B)

it 4 dh 4 F5
(Iy>20A, 50

°F

E w

//Nu) 428 °C / +73.4

%

]J,

, DC, # &
(Iy >20 A, 50% T f£#%

Jit.4n i 4 F4

@& Tk kR

AC 50/60 Hz

I

Jit A dh £ E2

) FEFE B

DC

4o i £ Ed

@ T el panku

L BHHUE R

AC 50/60 Hz

>

o AE B

Jit 4o & H2

o AE At

DC,

B 4o & H1

10000

1000

LR -

[CRE2-  REEI

Ui

B AL

#y

.

k7€ i, AC 50/60 Hz

Jit.4n i 4 R2,

fit A % R1, DC, K A& i

10

10
1

R

O
=
~
n
=
o
o

a.de

-t-

WWWw.e

0

1



@ BT=/A\ 75 = Fn i [ 5 A W7 Bk 2 8340-G2...

t3
KE AR RE, avi L $5 B g
18-P10-Si A 36 B o Y 300116 02 Y 300118 03
(b M >16 A | 58 ZE-T-A) 18-P10-5i-20025
[f(l Mif?i) # H R % T A6.3-0.8 (QC .250) Mi2x1 01-72*:50
i DIN 462. | .047+02
BN ERL TG EeT
¥| B
} A _ SW14 25
2 = = " oos
==l 7 — v > H = :’
80 0 N
3|9 315 ; - JE T 4540 6 1
35mm 24, } WrKWE, o A 5 fnO% 31 (IP66 Fu IP67)
[orraagaf] ) oomers S xanmm X20080108 (4% f 4 HMI2XT, A fd, % 9)
T Tl X 20080103 (2648 Mi2x1, ki, 24)
Lot (10- 5) (EERE)
3 i 18 R
(% K100 A #r4: i %)
EE S G| —
X211 158 01 # 3% 7
X211 158 02 1 #% 7
Phoenix #% ¥ AKG 35 B A ok 2247 | SW17
ok HL 4 A AR, 35 mm? (AWG 2) M4x4 150 1207 45 4% A4.3DIN 125
— Wi
M12x1
B L
| |l==11| \ FOR-1 T F
ESgIES ki, BE, ~A E‘rf%ﬂoji%(lPSQ
EiEE X20080201 (4484 MI2XI, ik, 26)
=] | =
7
SW17

276

o e ! o BIEKB ‘
' 8% 1 mm/.039 in. X200803 01 (& H4)
Lk %I E ‘
Y 30382411
9
a8 3 54 190
213 7.48
71
f

[E £ &, & | &5 & 18-P10-Si
Y 300 579 11 o
205 S T T & =
S SR B
60
236 — — %R
B |5
j‘t

1.38
i %4 -P10
X21058801/1.5 mm2 (AWG 16), # (& K 1 # #5713 A)
X 210588 02/2.5 mm2(AWG 14), & (5 K f1 2 B 720 A)
X 210 588 03/2.5 mm2 (AWG 14), 4T (5 Kk 1 2 #5720 A)
X 210 588 04/2.5 mmz2 (AWG 14), 15 (5 Kk 1 2 #5720 A)
100 /e i3 1236 F 6.3 (250)
9@:!;%46247 ET ¢

~70
~2.76

AN T oy (MM
inch

UEFRHAZHRTARRNESE . RARE BRI MR fRAKE TR TR
A P EARRAIT 05 T A £ R 2B TR RN

2015/16 www.e-t-a.de 4-11




@ ET=/A

4-12 www.e-t-a.de 2015/16





